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HA
— 1

2=2 MESEAMHA X3
SABAAS

SN S(B) - NRAY - B2 Aro e =2
307 glz2told Al 71,237
02 QItHAEX 712,366 693,812 18,554
OELURLANE2HA 712,366,000 712,366
= 641,129
Al 71,237
HAEEA AIEE2 0 123,100 135,436 212,336
= 98,480
= 12,310
Al 12,310
307 glztold 123,100 135,436 212,336
= 98,480
= 12,310
Al 12,310
02 QItFAEX 123,100 135,436 A 12,336
OZAEEIAESAN 123, 100,000& 123,100
= 98,480
= 12,310
Al 12,310
FURLAE MIASHSBAX S+2RSE 90,450 85,482 4,968
= 45,225
Al 45,225
307 glzZtold 90,450 85,482 4,968
= 45,225
Al 45,225
02 QItHAEX 90,450 85,482 4,968
OZAURYY AMIISHAMESMAESZR
=g 90,450,000& 90,450
< 45,225
Al 45,225
FAYAL S SHSHIX R 2,000 2,000 0
& 2,000
307 QIZt0IA 2,000 2,000 0
& 2,000
02 QItFAEX 2,000 2,000 0
OEA AL SH = 2,000,000& 2,000
< 2,000
XIOH 2t el Ak 9,000 0 9,000
201 BH2EH] 3,000 0 3,000
01 AtS2t2ltl 3,000 0 3,000




SN 2L
B W2 ADIEAHIA X
£l HAEHAY (cro|: ® e
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
OXlHogEz e 250,000& *123] 3,000
307 glz2told 6,000 0 6,000
01 2¥+2H 6,000 0 6,000
OXIOH XIZetMdl XI& 50,0003 20«6 6,000
A0HoY & SE2C 20,000 0 20,000
= 10,000
Al 10,000
307 QIZt0IA 20,000 0 20,000
= 10,000
Al 10,000
01 g2¢+= 20,000 0 20,000
OXIDHog & 20,000,000 20,000
= 10,000
Al 10,000
AHEHTANY 2 700,201 509,991 190,210
= 360
Il 83, 140
L= 147,419
Al 469,282
AEHEME 2eMH 2= 376,620 320,004 56,616
= 360
< 71,878
Al 304,382
TRAEEE=ZAl 720 720 0
= 360
= 360
307 QIt0IA 720 720 0
= 360
& 360
02 QltFAEX 720 720 0
OFJAFHIE=ZASZI2 23|
720,000& 720
= 360
= 360
Zetelor B XIAFS 112,980 112,980 0
& 56,490
Al 56,490
201 ZEH2EH] 52,000 29,476 22,524




SN 2L
B ZEUMY Y 2
crel: MeEolg 22lMA 2 (£r9): & 2
S BB SR (B) - NEAY - BAS 0f & o Soe DB
201 et = 26,000
Al 26,000
01 AtR2teltl 32,000 5,000 27,000
OgIANE S22 27,000,000 27,000
& 13,500
Al 13,500
O2ctelots g9 e=a g aitz
5,000,000& 5,000
& 2,500
Al 2,500
02 3324l 20,000 24,476 N4 476
OgggE=a g & AU KA
20,000,000 20,000
= 10,000
Al 10,000
206 M=l 60,980 57,004 3,976
S 30,490
Al 30,490
01 M=Hl 60,980 57,004 3,976
OZUHCIOtEIRl HYHAE L M2
60,980,000& 60,980
S 30,490
Al 30,490
sS4 A 3,000 3,000 0
= 900
Al 2,100
307 elztold 3,000 0 3,000
S 900
Al 2,100
01 =2 =H] 3,000 0 3,000
Os=g A 3,000,000& 3,000
< 900
Al 2,100
stdl IRYE HAALY 1,020 1,020 0
S 306
Al 714
307 g2iz2told 1,020 1,020 0
= 306
Al 714
01 A=L =4I 1,020 1,020 0
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HAHA
DMy o
Hegoy 2 CRE-E)
SN FB oo FHRAY - B2 Lo Soe RS2
Ogtul I £ 1,020,000 1,020
[ 306
Al 714
It E LA 17,368 17,368 0
S 5,211
Al 12,157
206 M=l 17,368 9,368 8,000
< 5,211
Al 12,157
01 Mzl 17,368 9,368 8,000
ORIIX S 2 WETY
17,368,000 17,368
< 5,211
Al 12,157
dggogs ¢ 28,704 18,704 10,000
= 8,611
Al 20,093
206 M=l 28,704 18,704 10,000
< 8,611
Al 20,093
01 M=l 28,704 18,704 10,000
Oodggue & BHAA 28,704,000 28,704
== 8,611
Al 20,093
ZeiEIt2el 2,080 4,482 N2,402
202 Oidl 100 102 A2
01 LMY 100 102 A2
OgZHMES =2 (ZHELX0HI)
100,000 100
307 gI2tol& 1,980 4,380 22,400
01 A=Y= 1,980 4,380 A2,400
SEETE
6,600 x6& *50H 1,980
g2 & 150,048 136,730 13,318
101 1A 60,788 59,580 1,208
10 JI2tH2 60,788 59,580 1,208
Oogdar= 60,788
—ERAS0EA 60,788
== 56,0003 x4 »210 47,040
ERaE 56,0003 x4 & x42= 9,408
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SN EAL
B Zmesoy 2 2
CHol: MO 22AHAH P (Er9): & 2
SN - EH . S(3) - MRAY - BES 0 Ak o4 e HRz2
SPNEA=E = 56,0002 *»4& 108 2,240
2 AL AL 70,0002 +1% *302 2,100
201 LEHRHH| 20,800 18,900 1,900
01 AtR2teld] 10,900 10,300 600
OgAA=SIR G 2| 7,000& +5F 1202 4,200
OS2 1,500 %235 1,000 3,000
O LHIIS+8I 7Y 1,200, 0008 1,200
OzgdHils=NE 2,500,000& 2,500
02 =324l 9,900 8,600 1,300
oYz U YALSI| X
9,300, 0002 9,300
OEDIMHIAR 2L HSHADHER2
600,000 600
206 TH=Hl 60,600 55,850 4,750
01 THZHI 60,600 55,850 4,750
OFSHMY YoiorE U W27 60,600
S5 1,400& %20,000 ¢ 28,000
-2 g5 2,000& *2,500 £ 5,000
~RETHHS P 92,0002 *300kg 27,600
307 QIZ2told 2,260 2,400 A 140
02 QIZtFAEX 2,260 2,400 A 140
OXtsgtdt 23| 2,260,000& 2,260
405 XtabE SHI 5,600 0 5,600
01 TMME=SZHSHI 5,600 0 5,600
OFlEHH) 550,000& 7 CH 3,850
OEg&AEBLES 1,750,000 = 1CH 1,750
SHA AKX LA AH A 60,700 25,000 35,700
307 220l A 60,200 25,000 35,200
01 A=Y P =H| 60,200 25,000 35,200
O eI A AtHI 1,000 +35,000E & 35,000
O EXIXF2I At 50,0002 2602 13,000
OYLHs I 22 A) 20,0002 %1002 2,000
Ot 2t 2l ALH H AtHI 15,0003 *100H 1,500
O3 &S A 15,0003 »580H 8,700
405  AHAHE SH 500 0 500
01 XaUSEH St 500 0 500
Ol =& AHE 500,000& 1 CH 500
S 2 oo =22 19,464 15,194 4,270
Il 6,672
Al 12,792
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SN 2L
B AHoMY L B
¢ 49 2 oflol==e (St &)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Ol Ol R &I CHAl 2F 2 2 4,544 4,364 180
J| 2,272
Al 2,272
307 QI2tolA 4,544 4,364 180
J| 2,272
Al 2,272
01 =<3 =H| 4,544 4,364 180
OO0 ZE Al 242 2] 4,544,000 4,544
J| 2,272
Al 2,272
OOl =& Xt &= b 8,000 8,000 0
J| 4,000
Al 4,000
307 QIZtolA 8,000 8,000 0
J| 4,000
Al 4,000
01 2z =H| 8,000 8,000 0
OWlol=& Xt & ZH 8,000, 000& 8,000
J| 4,000
Al 4,000
HYRC A2 800 830 A 30
J| 400
Al 400
307 QIZ2tol A 800 830 A30
J| 400
Al 400
01 Q=L =H| 800 830 A 30
OHdY &AL 800, 000& 800
J| 400
Al 400
OOl =0 e Bt 6,120 2,000 4,120
201 LErEAH| 1,120 0 1,120
01 At22t2ldl 1,120 0 1,120
Odd . Hol=fEnedAIE 70,000& x163l 1,120
307 QI2tolA 5,000 2,000 3,000
01 =<3 =H| 5,000 2,000 3,000
OMoI =& S K& 2 H| 5,000,000& 5,000
HeE s 2 304,117 174,793 129,324
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SN AL
U NHEANY 2 el
ool olEFS A 2|7 2)
M- B SR(B) - HRAY - BE S Ak e 2
SIS ESnIE] J| 76,468
& 75,541
Al 152,108
L EE ol Tl 69,673 0 69,673
| 34,837
= 17,418
Al 17,418
307 gQIz2told 69,673 0 69,673
| 34,837
= 17,418
Al 17,418
01 A2 H=HI 69,673 0 69,673
OQHHACIAT SHIX & 69,673,000& 69,673
| 34,837
& 17,418
Al 17,418
HES 434 63,436 47,167 16,269
J| 31,718
& 15,859
Al 15,859
307 glz2told 63,436 47,167 16,269
J| 31,718
& 15,859
Al 15,859
01 oz =Hl 63,436 47,167 16,269
OugEEA4Z| 63,436,000& 63,436
I 31,718
< 15,859
Al 15,859
LS SEMEI2IHI(212A4]) 19,825 19,500 325
| 9,913
L= 4,956
Al 4,956
101 el t| 19,825 19,500 325
| 9,913
L= 4,956
Al 4,956
10 JIZAH22NHSES 19,825 19,500 325
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SA

= &l
o9l
£l (312H) HA= Aol e
s=
19,825,000& 19,825
| 9,913
= 4,956
Al 4,956
0fl &t 62,183
& 37,308
Al 24,875
62,183
= 37,308
Al 24,875
=4 62,183
T 62,183,008 62,183
= 37,308
Al 24,875
= 89,000
et 2,000
At 2tel | 2,000
agzdss=E=s 1,000& *1,000H +2& 2,000
BI2t0| & 87,000
ozunat| 87,000
ORZNHLEE(ASASE 53,500, 000& 53,500
O R0 & 5 (A 010H| 212F)
13,000,000 13,000
ORESAHYRE 5,00021%3,300% 16,500
OUZE S I Xt 200& *20,000 4,000
BH2AAH (2AL) 159,967
olEiegy(22H4) 74,847
ZFHOIAH| (E2AL) 69,327
101 Q14| 69,327
09 RIAHAZZIHE=S 69,327
OS2Ix2A 25,120
ez 966, 46021 * 12 #1202 11,598
-&0=s 11,597,520 14 *1/3 3,866
-Jhet= 11,597,520 1€ +0. 1 1,160
“ANZHRI2RH 8,320 x 1H »22A| 2tx 12 2,197
—Re2RE 66,6003 x1H 2+ 122 1,599
EPNES =L Eed =y 44 4002 «1H 162 71
-FE4Y 44,4002 %1% 525 2,309
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SH: 2L
B WP AR (2AL)
Cro): ol oy|(2A4) Cr9): &
SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
- M ZAlY| 80,0003 1H«12& 960
-~wWEE LI 60,0003 x1H«12& 720
OgatdelAt 25,618
A== 966,460& x1H x12& 11,598
-&0= 11,597,520 & »1H %1/3 3,866
P RAE=] 11,597,520 12 %0, 12 1,392
-A2tel =g 8,320 x 1 »22A| 2tx 12 2,197
-FE22E 66,6003 x1Hx2U x 122 1,599
G PR = = 44,4003 » 1H »22 ar7
=5 44,4003 x 19 x52=F 2,309
—Z g A 80,000 x1H »12& 960
-—wWES 24| 60,000 x1H ~ 122 720
OLIACHIE 0] 18,589
-Jl2= 734,8003*1H«12& 8,818
-&03 8,817,600 x1H+1/3 2,940
-A2tel=g 6,330 x 1 »22A| 2tx 12 1,672
22 50,6403 x1Zx2 L x12& 1,216
-AXREF Y 33,7603 x1H » 15 507
=54 33,7603 »1H x523= 1,756
—ZAHgAl| 80,000& x1H »12& 960
WSS A 60,0003 1H«12& 720
2MAAHBI(EBAHA) 5,520 5,600 A80
203 HRF&H 5,520 5,600 A80
02 FRItergRF&d| 1,320 1,280 40
OZAIMAHRF &I 40,0003 *33Z 1,320
04 ENM2IEYRFLEI 4,200 4,320 A120
ORN2ZHR2FZXIHI(30010]4)
350,000& 123 4,200
Jl2ddl(EAHL) 85,140 194,280 A 109,140
Jl2dl(8AL) 85,140 194,280 A 109,140
201 B2 29,700 144,360 A 114,660
01 AtS2teltl 29,700 40,200 A 10,500
ORA2E AtR2t2lH| 29,700,000& 29,700
202 Oidl 55,440 49,920 5,520
01 =3UWHbI 55,440 49,920 5,520
OJ|2d2>304H](33F) 55,440,000& 55,440
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